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Question 1.1
Distinguish between the direct and indirect method whereby captives provide their parent (and subsidiaries and affiliates) with cover?
Direct Method
· Premiums are remitted directly to the captive, which retains a portion according to the liability it wishes to carry and cedes or reinsures the remainder
Indirect Method
· Risk are insured directly with a conventional commercial insurer who then, by specific agreement, reinsures a specific portion of a particular type or types of cover back to the captive
· This is known as fronting (for which fee is payable) and is arranged whereby a captive contracts with an insurer licensed to do business in a jurisdiction (where a captive is not able to get a license or is excluded for any reason to provide the required insurance	
	
Question 1.2
Discuss tree key input factors to consider when performing a feasibility study to test ad verify the viability and competitiveness of a captive.
1. An effective ad appropriate risk control programme must be in place in the insured’s business and must have proven to produce a better (lower) than average loss experience.
2. Statistics covering risk finance cost and loss experience must be available for at least a prior 3 years
3. Discussion is required about the nature and limit of risk to be insured
· This determines equity capital ad premium income needs
· Detailed analysis is required of various risk which company is exposed to
4. In the case of joint interest and multi-parent captives, some forethought and agreement are necessary as to how premiums will be adjusted to reflect individual experiences
· Extend of premium adjustments
· Whether funding will be post/pre-loss
5. Establish the amount of capital required by the captive is critical and is affected by objectives relating to:
· Intended exposure to large individual losses and/or accumulation of losses from one event
· Net retained risk and the et premium to be received
· New capital or a borrowing facility
· Rate of return expected from capital investment
6. Establishing the security of the insurers and reinsurers that the captives ay do business with is a complex experience
Question 2.1
Highlight the main differences between Finite Insurance and Conventional Insurance
· Finite Insurance
· Finite insurance contracts are multiyear contracts. 
· Finite insurance contract has an aggregate limit of cover so that the insurer’s exposure is limited
· contract might also contain annual sublimit
· Premiums is higher than conventional insurance
· Conventional insurance 
· Normally contracted for one year only to the amount of aggregated cover offered.
· exposure of the insurer is usually unlimited

Question 2.2
Distinguish between a straight and franchise deductible. Explain why the straight deductable is considered the most effective to use?
Straight Deductible
It applies to each loss and is subtracted before any loss payment is made.
Example: Ben has a minor accident in a brand new car resulting in damages of R1000. What will the insurance company pay Ben if:
-  R1250 Straight deductible applies
-  The losses result in a R5000 repair bill	
· A R1250 straight deductible will eliminate any recovery from his insurance
· If losses amount to R5000, the insurer will pay R3750

Aggregated deductible
· Applies for an entire year
· Insured absorb all losses until the deductible level is reached, at that point the insurer pays for all losses over the specific amount
· Aggregated and straight deductible can be used together, for example:
· A Firms property insurance policy may have a R5000 straight deductible, subject to an aggregated deductible of R100 000 in total property losses during the year
· Compared with straight aggregated are not as successful in eliminating the cost of processing small claims as all losses will likely be reported to insurer for credit toward meeting deductible
· This might reduce the ability to reduce moral hazard
Disappearing deductible
· Size of the deductible decreases as the loss increases
· P = (L-D) x (I+R)




Franchise deductible 
· Expressed either as a percentage of value or as a rand amount
· No liability on the part of the insurer unless the loss exceeds the amount stated
· Once loss exceeds this amount insurer must pay entire amount
· Common with the insurance of ships and cargo
· For example: Policy might provide that there shall be no loss payable unless the loss equals 3% of the total value







Question 3 – Life Insurance
Chapter 10
Briefly outline the purpose/application of life insurance and the particular requirements, if any, in each of the following instances
Key person insurance
One usually finds that key-people in any organisation are those who, should they die or leave, will: 
· be difficult to replace; 
· effect the profits of the enterprise; 
· result in a reduction of sales; 
· result in costly training of a replacement; or 
· Require a possible change in management. 

Once the role of a key-person in an organisation has been established, it becomes possible to decide on the value of the person. It is often difficult to do this in Rands and Cents and so the following may assist as a guide.
Where it is not possible to accurately assess the loss that a key-person will mean to an employer, it is normal to use a multiple of his basic salary to determine the sum insured, for example, either 5 or 7 times his gross annual salary. 
Should this method not be used, it is vital to ensure that, not only the actual loss, but also the costs that will be incurred in the recruitment and training of a replacement is taken into consideration.

Sinking Funds (for capital asset replacement plan)
· Unlike land and buildings, plant, machinery, motor vehicles, office equipment, are wasting assets with a limited time-span usage. 
· Because of this, it is accounting policy to depreciate capital assets at a fixed amount each year for their expected life span. 
· The depreciation of these assets reflects the estimated annual cost of wear and tear, and is tax deductible in determining the company’s taxable income which is gross income less deductions, upon which tax is assessed. 
· To ensure that enough funds are available to replace these assets, cash amounts equal to the depreciation charges must be invested in a sinking fund, such as, a pure endowment policy.

Buy and sell agreement in a partnership
Unless adequate provisions are made within a business entity, the death of any one of the parties involved creates major areas of concern for the survivors. 
· The primary concern is deceased’s interest or share in the enterprise. 
· The most effective way of doing away with this issue is through a buy-and-sell agreement. 
· The most efficient way of funding any agreement reached, is to use life insurance policies on the lives of the people who are party to the agreement.









Preference share capital redemption plans
· Preference shares are generally used by a company to raise money. 
· Whilst a preference shareholder obtains certain rights against the assets of the company they usually have no voting rights with regards the running of the company. 
· Holders of preference shares are entitled to a participation in the profits of the company before the declaration of a dividend to ordinary shareholders. 
· Preference shares can be either cumulative or non-cumulative. 
· Preference shares usually bear a fixed minimum annual rate of dividend, and this rate cannot be changed unless the majority of the preference shareholders agree. 
· One therefore finds that, while there is a higher level of security in preference shares, the return on the investment may not be as high as it would have been if the investment had been in ordinary shares. 

Contingent liability insurance

· A private company, or close corporation (cc), will, on occasion, need to borrow money. 

· It is not unusual that a bank will insist that the directors of a private company pledge their personal assets, where the bankers feel that the assets of the business provide insufficient security. 

· By signing a surety in his personal capacity, the director effectively binds his personal estate for the liabilities of the business. 
· On the death of the director, the loan will be recalled and the business will need to repay the loan. Should this not be possible, the business will need to exercise one of the following options: 

· find an alternate director who can replace the deceased as an alternate guarantor; 

· find alternative collateral security acceptable to the creditor; or 

· Come to an alternative arrangement with the creditor for the repayment of the loan. 

Should the business be unsuccessful in its attempts to make alternative arrangements, the creditors may claim the full outstanding debt directly from the personal estate of the deceased director. 
























Question 4
Briefly set out the distribution basis of the estate under each of the following conditions:

a) Where a person is survived by a spouse, but not by a descendant, the surviving spouse will inherit the entire intestate estate. 
b) Where a person is survived by a descendant, but not by a spouse, the descendant will inherit the entire intestate estate. 
c) Where a person is survived by a spouse and a descendant-
· the spouse will inherit an amount equal to the greater of a child's share of the intestate estate or an amount which is fixed from time to time by the Minister of Justice in the Government Gazette, in 2010 this amounted to R125 000; 
· Where the set down amount is greater than a child's share the descendant will inherit the residue, if any, of the intestate estate. 
d) Where a person is not survived by a spouse or a descendant, but is survived - 
· by both parents, the parents will inherit the intestate estate in equal shares; 
· by one parent, the surviving parent will inherit one half of the intestate estate and the descendants of the deceased parent will share the other half of the estate. Should the deceased parent not have any descendants the surviving parent will inherit the entire estate. 
e) Should the deceased not be survived by either a spouse, a descendant or a parent the following will occur: 
· The intestate estate will be divided into two equal shares. One half will be shared by the descendants of the mother and the other half will be shared by the descendants of the father; 
· Where only one of the deceased's parents left other descendants, those brothers and sisters will share the entire intestate estate. 
f) Where the deceased is not survived by a spouse, descendants, parents or descendants of parents any blood relations who are related to the deceased to the nearest degree will inherit the intestate estate in equal shares.
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Question 1.1
Illustrate the relationship between the severity and frequency of losses and the financing decision
Page 124 (Study Guide)

Question 1.2
Explain what deductibles are and argue the importance of it as self-funding alternatives?
· A deductible is the part of the insured loss which a company retains for its account
· The deductible is subtracted from the amount with which the insurer reimburses the company in the case of a loss
· The larger the deductible , the larger the portion of self-funding
· Deductible programme may offer many of the advantages of self-funding without increase internal expenses
· Insurer provides all the necessary admin services and pays all the claims and then bills the insured for the amount that falls within the deductible amount
· Use of deductible offer cash flow benefits

Question 2.1

Explain why the insurers underwriting manual not be used as absolute authority?
Limitations of underwriting manuals 

Although the underwriting manual has a significant place in the underwriting function, the manual should not be used as an absolute authority for several reasons: 

when the underwriters are faced with a combination of different impairments, they must have a sound medical knowledge in order to be able to determine whether the combination of risk factors greatly increases the risk, such as smoking and cancer, as cigarettes are known to be carcinogenic. 
However with the combination of cancer and obesity, obesity does not have a direct impact on cancer; the task of keeping an underwriting manual up to date is formidable and time consuming, especially in light of the rapid pace of medical advances, and the information in such manuals is often dated and, reflects the experience from risks accepted at least five years; 

manuals generally reflect the anticipated extra mortality for ages 25 or 30 through to 55 or 60. Therefore, to assess a risk on either side of these age limits requires some modification of the manual’s suggested ratings. 



Question 2.2.1

Briefly define an ‘early claim’

· Life insurance premium rates are calculated by actuaries using mortality tables that give an indication of the expectancy of life of the proposer. 
· Premium rates are determined using assessments and assumptions that are based on the law of averages. 
· Where a person therefore dies suddenly, and very shortly after having taken out a life policy, the death will fall outside the norm used in the actuarial assessments and assumptions. 
· The claims assessor should, therefore, identify the claim as falling outside the average, and perhaps even consider that the time and cause of death are suspect. 


Question 2.2.2
Briefly explain why a recently reinstated policy is regarded as an ‘early claim’
· When a debit order is in operation and a premium request is returned unpaid by the bank, the outstanding premium will usually be paid out of the investment account, and the policy will continue as if premiums had never been in arrears. 
· Should a policy reach a stage where no further funds are available in the investment account to pay the premiums, the policy will enter a state of lapse and no claims will be considered.
· Most life offices will usually only allow a lapse to occur after the premiums have been in arrears for three months or more. 



Question 2.2.3
Briefly set out the treatment of a death claim where the cause of death is given as ‘Death by suicide’. Also state whether the same treatment would apply if the policy had lapsed and was recently reinstated ‘on original terms’?

DEATH BY SUICIDE 

· Most life insurers impose a suicide clause which states that a death claim as a result of suicide during the first 24 months of the contract will automatically be repudiated. 

· The above principle does not apply if the life insured commits suicide whilst insane, as it can be said that he does not have the mental capacity to appreciate what he is doing.
· It can therefore be argued that his estate would be able to recover the policy monies in such an instance. 
· Suicide would, therefore, not be covered if it occurred during the specified period. 
· If suicide occurs after that period then the office would be liable for the claim, even if the life insured was of sound mind at the time. 

The burden of proving that suicide was the cause of death, is on the life office. 





Example
The case of Walsh vs Legal & General Insurance Society Ltd. (1935), illustrates the difficulties which can arise. The life insured died when he fell from a train during the first year of a policy which excluded suicide within the first year.
There were no other passengers in the compartment and examination of the carriage door showed no effect that might have allowed it to open of its own accord. In view of these circumstances, the coroner’s verdict was, “suicide while of unsound mind”. Legal action was brought to claim the sum insured. It was held that the coroner’s verdict was not conclusive proof of suicide and that, as the life office could not positively prove it was suicide, they were liable. 


Suicide after reinstatement 

The non-permanent suicide clause stipulates that no claim will be admitted, if suicide is committed within the set period of months from the date of the letter in which notice is given, that the policy has been accepted or reinstated. 

Policies that are reinstated without proof of good health, with or without the exclusion of claims, will be subject to the suicide clause, only to the extent to which the original period still applies. 

Policies that are reinstated with proof of good health, are again made subject to a suicide clause from the date of reinstatement. 




Question 3
Provide 6 different examples of when insurable interest exists thus making a life policy valid
Insurable interest can be defined as the legal right to insure, and means that the proposer must have an actual, recognised relationship with the person to be insured, as a result of which he would suffer a financial loss if the event being insured against occurs.
It is the responsibility of the underwriter to check that insurable interest exists at the inception of the contract.
PERSONAL PARTICULARS 

Age and gender 
Where these have not been confirmed they need to be at claims stage. 

Smoking habits 
There is a significant difference in rates for smokers and non-smokers. It is therefore essential to check that anti-selection did not take place. Unfortunately it is very difficult to obtain proof that the information provided during proposal was incorrect, and only in cases where irrefutable evidence can be found, is it possible that the values be adjusted. 

Occupation 
Only in cases where conclusive proof is found that incorrect information was provided intentionally in order to obtain better benefits or rates, must a recalculation be done or, in extreme cases, repudiation of the claim be recommended. 

Part-time activities 
The claims clerk should check to see whether incorrect information was provided intentionally at the proposal stage in order to obtain better benefits or rates. Where this is the case it is likely that repudiation of the claim should be recommended. 

Health aspects 
Where a policy has been re-instated within the last 12 months it is imperative that all aspects of the insured’s health be checked and verified. The reason for this is the possible non-disclosure of a deterioration of the health of the insured in the declaration of continued good health that was required at the time of reinstatement. 

AIDS exclusion clauses 
The negative impact that AIDS is having on South African communities and the South African economy, as represented by the life insurance industry, has resulted in the need for a clear and unambiguous policy toward this pandemic. 
Note the earlier mention of the fact that no member office may use HIV/AIDS exclusion clauses for new business, nor may they enforce any exclusion that may have been imposed for basic life and disability benefits. 
The claims assessor must always check for an HIV-positive status if the rider benefits were subject to AIDS exclusion clauses. 


Question 4

g) Where a person is survived by a spouse, but not by a descendant, the surviving spouse will inherit the entire intestate estate. 
h) Where a person is survived by a descendant, but not by a spouse, the descendant will inherit the entire intestate estate. 
i) Where a person is survived by a spouse and a descendant-
· the spouse will inherit an amount equal to the greater of a child's share of the intestate estate or an amount which is fixed from time to time by the Minister of Justice in the Government Gazette, in 2010 this amounted to R125 000; 
· Where the set down amount is greater than a child's share the descendant will inherit the residue, if any, of the intestate estate. 
j) Where a person is not survived by a spouse or a descendant, but is survived - 
· by both parents, the parents will inherit the intestate estate in equal shares; 
· By one parent, the surviving parent will inherit one half of the intestate estate and the descendants of the deceased parent will share the other half of the estate. Should the deceased parent not have any descendants the surviving parent will inherit the entire estate. 
k) Should the deceased not be survived by either a spouse, a descendant or a parent the following will occur: 
· The intestate estate will be divided into two equal shares. One half will be shared by the descendants of the mother and the other half will be shared by the descendants of the father; 
· Where only one of the deceased's parents left other descendants, those brothers and sisters will share the entire intestate estate. 
l) Where the deceased is not survived by a spouse, descendants, parents or descendants of parents any blood relations who are related to the deceased to the nearest degree will inherit the intestate estate in equal shares.
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QUESTION 1
Explain the risk management model in detail; illustrate your answer by means of a diagram
Chapter 2 – page 29



QUESTION 2

2.1 List and explain the types of pure risk according to their classification

· Fire
· Corrosion
· Explosion
· Fraud
· Structural Defect
· War


2.2 List and explain the duties of a Risk Manager

· The Risk Manager is a specialist and is not limited to one function. 
· The Risk manager should have broad overall knowledge and be able to oversee all activities of the company
· The purpose of a risk manager is to identify risk and n order to do so he needs to follow a structured approach
Some techniques:
· Physical inspection
· Aids to identification
· Organisational charts
· Flow charts
· Check lists




QUESTION 3

3.1	We live in a changing world, with the rate of change increasing, standards and conditions deteriorate. Therefore a process of managing risk needs to be in place, a process that would constantly review and update information on risk and review and improve control measures as appropriate.
Explain this process in detail.

3.2	Human reliability is affected by 5 factors. In view of this statement describe these factors.









QUESTION 4

4.1	The risk assessment process is comprehensive and complex. Compare the 3 risk exposure in terms of safety, human health and environmental factors.






4.2	Describe the four options that can be applied in controlling risk (10)

Physical Risk control
· Elimination
· Eliminate the possibility of loss
· Not having a car means it can’t get stolen
· Minimisation
· Pre-Loss
· Steps taken to minimise risk
· Wearing seat belt
· Use of protection clothing
· Post-loss
· Measures taken to reduce amount of loss
· Fire extinguishers installed to help fight fire
Financial Risk Control
· Retention
· Once risk has been evaluated, risk manager have to decide to retain risk or to get insurance
· Can be part or fully retained
· If client decide to fully retain risk he/she needs to decide to:
· Self-insure or captive insurance
· Non insurance	
· Risk Transfer
· Main type of risk transfer is buying insurance
· Client can decide to insure whole risk or obtain insurance purely of catastrophic cover

























QUESTION 5

List and describe the process aspects that should be considered when developing
risk control measures.
Tutor Manual

STUDY UNIT 2 – The insurance device

Explain the concept of Insurance

· Defined as system of handling risk by combining many risk exposures with the cost of losses being shared by all participants
· From a financial point of view, an insurance system accomplishes the redistribution of the cost of losses by collecting a premium from each participant
· In turn for the premium the insurer promises to compensate for losses
· Money is pooled by insurer to pay for losses


Explain the function of insurance

Risk Assumption
· Financial aspects
· Insurer assumes the financial aspects of risks  transferred to it by the insured
· Most insurance contract are expressed in term of money although some indemnify the insured by providing a service – Either way they assume the financial burden
· Insurer cannot replace sentimental value or bear psychological cost of losses
· Because these non-economic risk create uncertainty, it is apparent that insurance cannot completely eliminate it
· Prediction
· Function of insurance is to assume risk and reduce uncertainty
· The fundamental difference between insurer and insured is in predicting future events
· You must predict with you as an individual whereas the insurer predicts for the group – Therefore can make more reliable predictions
· Pooling
· Pooling changes the nature of the risk and improve predictions

Law of larger numbers
· Mathematical principle for pooling risk
· The greater the number of observations of an event based on chance, the greater the chance that the actual result will take place

Adverse selection
· Tendency of people who have greater probability of loss than the average to seek insurance
· Insurers try and prevent this by learning enough about applicants
· Applications can either be rejected or group with grouped with members with similar probabilities












Characteristics of Insurable risk

1. Risk must be one of a number of similar risks
· Must be experience in similar risk to establish a fair premium
2. Loss must be measurable and definite
· Must be able to tell them when loss have taken place and attach certain value
3. Loss must be fortuitous or accidental	
· Loss must happen by accident or chance
4. Loss cannot be inevitable
· Inevitable loss will present no risk
5. Loss must be catastrophic
· Loss which affect a very large portion of the population
6. There must be insurable interest
· Legally recognised relationship between the insured and the financial loss that can be suffered
7. Insuring of the risk must not be against public policy
· As stated by the law


Explain the concept of self-insurance

Refers to establishing a scheme for consciously retaining risk and providing for its financial consequences without involving an insurance company



Highlight the nature and purpose of re-insurance

Nature of
· Arrangement by which an insurance company transfers all or portion of its risk under contract to another company
· In effect, insurance company that has issued policies of insurance purchase insurance from another company
Purpose of
· Main reason is that the ceding company want to protect itself against loss in individual cases beyond a specific sum
























STUDY UNIT 3 – Short term insurance market


Explain the short term insurance market and its participants

(Print page 3 – Chapter 1)



Distinguish between multi-peril policy and Asset All Risk insurance

The Multi-Peril Policy 
· Historically, a policy would be issued for each of the different types of cover the client needed. There were a number of disadvantages, which included: 
· the client could have a different renewal date for each policy; 		
· he would have to pay each premium separately; 
· he could easily forget to renew one of the policies; and 
· The company had to issue separate documents, which increased costs. 

· Multi-peril policies are policies with various sections combined into one document. This means that: 
· there is only one renewal date; 
· there is one premium; 
· it is cheaper to issue; and 
· there is only one document

· Usually, the insurers market their personal lines multi-peril policies under a brand name, for example, Allsure, or Multiplex or some other name.


Asset All Risk 
· This policy is specifically issued on the value of the total assets belonging to the company.
· It is normally only issued for the larger type of corporate risk, as each policy is written pacifically for the client. 
· Standard wordings can be used but this is very much a policy tailored to fit the client’s needs. 
· It is a policy of exclusions. If the cause of the loss is not excluded, then the loss is covered. Cover is therefore very wide. 
· There will be separate limits for different types of cover.



















Highlight the function of the different intermediaries in the market


· the Broker
· Provide advisory and intermediary service
· Normally have agency agreement with many insurers
· Broker are legally liable for the advice they give
· May be responsible for collecting premiums


· the Underwriting Manager
· not an insurance company official
· registered insurers are allowed to outsource underwriting and claims setting authority to certain intermediaries
· Usually, this is because the intermediary has special knowledge or facilities for transacting a particular class of business
· The insurer remains ultimately responsible for the cover issued.
· the Agent
· In the short term market an insurance agent is someone who sells insurance
· Must adhere to FSA code of conduct
· Registration and licensing by the Registrar of Financial Services Providers. 
· keeping proper accounting records, 	
· keeping records of any complaints made against the FSP, 
· appointing a compliance officer, 
· Lloyd’s Broker 
· Lloyd’s brokers mostly operate in specialist fields, placing the risk through an arrangement with the Lloyd’s market. 
· While the controls on Lloyd’s underwriters operating in South Africa are specially set out in the Short Term Insurance Act, it should also be understood that Lloyd’s members have to undergo a careful process of selection before being appointed and that Lloyd’s has a robust system of reserving to protect policyholders.





Explain the advantages and disadvantages of self-insurance

Advantages of self-insurance
· Premiums should reflect a discount for the self-insured proportion which can be invested to cover future losses. 
· As the fund grows so the percentages of self-insurance can be increased resulting in further premium discounts. 
· the premiums are not increased because of other peoples’ claims; 
· there is a very strong incentive to reduce claims and control losses; and 
· if there is a loss there will be no disagreement with insurers over the settlement; 


Disadvantages of self-insurance 
· A catastrophic loss could occur and deplete the fund. 
· Individual losses may not affect the fund too much, but the aggregate effect of several large losses in any one year may also have a catastrophic effect on the fund. 
· Capital has to be tied up, which could have been used to develop the business. 
· There may be a need to employ insurance specialists to handle the fund and administrative matters. 
· The technical advice of professional insurers could be lost. 
· The claims statistics, which should be used to decide on premiums into the fund, will come from a narrow base.  


Explain the options available to insurers where risks are beyond their individual capacity

Decline Risk
· There will be occasions when the underwriter will decline the risk. 
· It may be because of adverse features, but it could be because the risk is too large for the company to hold. 
· If an underwriter is continually refusing larger types of risk because of capacity problems, brokers will soon start going elsewhere with their business. 
· The underwriter therefore needs to get extra capacity.
Take part of Risk
· The second option is that the underwriter can take a share of the risk and the broker can place the rest of the risk with another insurer. 
· The policy is then a Collective Policy, and referred to as coinsurance. Features of a collective policy are: 
· each insurer takes a share of the risk
· the lead insurer issues a policy
· the policy document reflects the percentage share of each of the companies
· the claims are handled by the lead insurer
· it is normal for the other insurers on the policy to follow the lead’s decision
· a company who has a share on a collective policy cannot quote against the lead company; and
· The lead insurer receives a handling fee from the other insurers who share in the risk. 

This is an acceptable method of dealing with large risks, but it is time consuming from the brokers point of view and can be difficult to handle the administration.

Take all and reinsure
· The final option which the underwriter has is to take the whole of the risk and place reinsurance with professional reinsurers. 
· There are two methods of placing reinsurance and these are: 
· facultative
· Treaty	
· Reinsurance allows the underwriter to accept larger risks.

Roles of the loss adjuster
· For the larger losses, or where the insurer is dubious of the claim, it is normal for them to appoint a loss adjuster. 
· The loss adjuster will contact the client and will usually go to the client’s premises. Here he will look at: 
· damage caused by the peril which caused the loss; 
· point of entry and method of entry where the loss is theft; and 
· Supporting documentation, as the insured must prove his loss. 
· The loss adjuster will also: 
· obtain quotes for replacement of articles
· find contractors to carry out repairs
· liaise with the police and other involved parties
· Ensure that post loss protections and minimisation efforts are carried out. 



STUDY UNIT 4 – Practice of underwriting
























































STUDY UNIT 13 – Self-funding and its advantages

Explain the various types of losses


Type 1 Losses
· Emanates from those risks which produce aggregated yearly costs that, over time, are viewed as stable
· Estimate of stability is based on past experiences projected for the future
· Little variation between predicted year on year losses

Type 2 losses
· Risk which produce aggregated yearly losses in access of type 1 losses, which company could absorb within 1 year while remaining a going concern
· Cost consequence varies directly with the ability of the company to absorb the loss and the risk aversion attitude of its management

Type 3 losses
· Covers those losses which produce aggregated annual costs in excess of type 1 & 2 losses
· The relationship between the severity and the frequency of losses and their insurability is depicted in the two diagrams that follow:
· **See diagrams on page 124 of study guide



Explain the objectives of self-funding and highlight some possible disadvantages of self-funding

ADVANTAGES:
To reduce insurance cost
· The insured risk can be reduced by excluding the peril from cover in terms of the insurance policy, that is, fully providing for loss from own funds
· Participating in the cost of losses:	
· Proportional
· Nonproportional
· Insured share of the loss is known as the deductible or excess

To improve cash flow
· Premiums is due on firs day insurance starts
· Therefore insured losses benefit of cash flow whether loss is suffered or no
· If self-insured loss payments are only made if loss actually happens

Improve opportunity to earn investment income
· Funds set aside to cover losses can be invested to earn interest
· Depending of the timing of loss payment up to 50% of loss cost can be earned as investment

To improve the scope of risk funded
· Self-funding provides te opportunity to finance a wider range of risks, insurance policies generally restrict insurable and rateable types of risk

POSSIBLE DISADVANTAGES
· Can leave organisation exposed to catastrophic loss
· There may be greater variation in losses from year to year
· Possible adverse employee and public relations may arise out of the adjusted losses
· Insurer services, such as loss prevention services and claims will be lost



STUDY UNIT 14 – How many Self-funding can a organisation afford?


Financial factors to consider when deciding on the level of self-funding

1. Working Capital
· Reflect liquidity of an organisation and its ability to handle obligations
· As a guideline, 1-25% of working capital is a measure of loss assumptions ability
2. Total assets
· A range of 1-5% of total assets is considered practical
· The low end of the scale would apply to an entity where assets are already highly leveraged and liquid.
3. The earnings method
· To fund losses through earnings, risk manager should consider current earning and the entities previous 5 years earnings
· Suggested range is 1-3% of current retained earnings
4. Earnings per share
· 
5. Sales budget
· Range of 0.5-2% of sales or annual revenue




































STUDY UNIT 15 – Risk Retention

Explain what a deductible is


· A deductible is the part of the insured loss which a company retains for its account
· The deductible is subtracted from the amount with which the insurer reimburses the company in the case of a loss
· The larger the deductible , the larger the portion of self-funding
· Deductible programme may offer many of the advantages of self-funding without increase internal expenses
· Insurer provides all the necessary admin services and pays all the claims and then bills the insured for the amount that falls within the deductible amount
· Use of deductible offer cash flow benefits

Highlight and explain various types of deductibles using practical examples
Straight Deductible
It applies to each loss and is subtracted before any loss payment is made.
Example: Ben has a minor accident in a brand new car resulting in damages of R1000. What will the insurance company pay Ben if:
-  R1250 Straight deductible applies
-  The losses result in a R5000 repair bill	
· A R1250 straight deductible will eliminate any recovery from his insurance
· If losses amount to R5000, the insurer will pay R3750

Aggregated deductible
· Applies for an entire year
· Insured absorb all losses until the deductible level is reached, at that point the insurer pays for all losses over the specific amount
· Aggregated and straight deductible can be used together, for example:
· A Firms property insurance policy may have a R5000 straight deductible, subject to an aggregated deductible of R100 000 in total property losses during the year
· Compared with straight aggregated are not as successful in eliminating the cost of processing small claims as all losses will likely be reported to insurer for credit toward meeting deductible
· This might reduce the ability to reduce moral hazard
Disappearing deductible
· Size of the deductible decreases as the loss increases
· P = (L-D) x (I+R)

Franchise deductible 
· Expressed either as a percentage of value or as a rand amount
· No liability on the part of the insurer unless the loss exceeds the amount stated
· Once loss exceeds this amount insurer must pay entire amount
· Common with the insurance of ships and cargo
· For example: Policy might provide that there shall be no loss payable unless the loss equals 3% of the total value



Explain the least cost rule in determining deductible levels

This rule is based on the proposition that the cost of pure risk to the organisation is equal to the insurance premium plus the cost of losses retained under the deductibles

TEC = P + qD

TEC – Total Expected cost
P – Insurance Premium
D – Deductible level
q – average annual frequency of occurring loss





STUDY UNIT 16 – Captives and Rent-a-captives

Explain what captives is, how it works and highlight the reason for establishing a captive

What Captives is
· Captive is DIY insurance
· An insurance (or re-insurance) company which is owned or controlled by a non-insurance company which is established to ensure the risk of its parent or affiliated companies
How it works
· Captives function like commercial insurers – that is they insure and reinsure and invest their funds
· Two common arrangement whereby captives provide cover:	
· Direct Method
· Premiums are remitted directly to captives, which retains a portion of the liability it wishes to contain
· Indirect Method
· Risk are insured directly with commercial insurer who then, by specific arrangement, reinsured specific portions back to captive
Reason for establishing
· Business expenditure
· P
· Insurer expects investment income on premiums before claims is made
· Minimise or eliminate frustration caused by noninsurance factors
· Easier and cheaper to insure common but special risks
· Flexibility provides advantages:
· Cash Flow
· Interpretation
· Cost
· Not as heavily regulated as commercial insurance companies


Establish what factors should be considered before establishing a captive

· Effective and appropriate risk control programme needs to be in place
· Statistics covering risk finance cost and loss experiences must be available
· Decision is required about the nature and limit of risk being insured
· Some forethought and agreement are necessary as to how premiums will be adjusted to reflect individual experiences
· Establish the amount of capital required by the captive


Explain what a rent-a-captive is and its advantages

· Unlike captives they are formed to insure unrelated organisations
· These organisation wants captives insurance but do not want to form their own captive
· Rent-a-captive are generally not a business to make profit by underwriting risk
· Income derive from management fees
· Advantages:
· Offers more flexibility to insured
· Cost associated is lower
· Participants with smaller premiums may receive the benefit of increase investment returns
· May not require initial capital investment



STUDY UNIT 17 – Finite risk insurance and capital markets


Explain what finite risk is. Highlight the characteristics and functions

· Finite risk is when several methods of funding risk are used at the same time
· Insurance and self-funding are combined with the emphasis on time value of money
· Some regard it as new approach of diversification by spreading losses over time

Characteristics:
· Limited risk assumption by the insurer
· Contract period runs over several years
· Substantial portion of the profits accruing over the multi-year period is paid back to the insurer
· Expected investment income is also considered in calculation the premium

Functions:
· Smooth fluctuation in the insured’s loss experience
· Allow the insured to improve and to control key balance sheet figures
· Increase the capacity to underwrite risk


Explain the various types of finite insurance cover (p156)

1. Loss portfolio transfer (LPTs)
2. Adverse development covers (ADCs)
3. Finite quota share (FQSs)
4. Spread loss treaties ((SLTs)
5. The guaranteed cost approach



Explain the various types of capital market instruments (p159)

1. Catastrophe Bond (CAT Bonds)
· These instruments provide investors with varying returns based on insurance events rather than financial ones
· Assets linked to insurance risk enables investors to improve the risk/return ratio on their portfolio
2. Insurance derivatives
· These instruments pay out as a function of catastrophe index
· Catastrophe index futures and options allow the purchaser to offset its losses by using capital gains from the raise in futures index 
STUDY UNIT 19 – Legal and tax issues

Explain the concept of contractual capacity and list the types of people who have no or limited capacity.


Person is able to make an offer, or accept the basis of a contract, unless they have the ability to enter into a contract. We call this contractual capacity. 

Persons with NO contractual capacity
· Insanity
· Intoxicated person
· Minor children under age 7

Persons with limited capacity
· Minor children aged 7 to 18



STUDY UNIT 20 – Life Insurance – a product introduction


Explain the concept of “probabilities” has an impact on the establishment of a usable mortality table and the determination of a life insurance policy

· The dictionary defines probability as the extent to which an event is likely to occur.
· Events which are certain are given the probability of 1 (one) and those events which are impossible are given the probability of 0 (zero). In between these two extremes are events that may or may not happen.
· 


Discuss the impact of AIDS on future mortality rates	

· The HIV/AIDS pandemic is a matter of particular concern to many African countries, where unprotected sexual contact is a prime cause of the rapid spread. 
· Particular aspects of the disease which make it especially difficult to handle are: 
· the rapid growth of infected numbers; 
· the long period of incubation (7 to 10 years); 
· the absence of any obvious signs of HIV during the first part of the incubation with the associated infectious potential during this period; 
· the high cost of treatment, which includes psychological or social counselling, treatment of the conditions arising from the deficiency in the immune system, treatment of the AIDS virus itself and, ultimately the cost of a prolonged stay in hospital; 
· the social stigma attached to the disease and associated confidentiality issues; 
· inherent dislike or fear of using some common protective measures during sexual intercourse; 
· the fact that actual death does not come from the AIDS virus itself but from a range of other conditions such as tuberculosis (TB), pneumonia, severe diarrhoea, many of which are prevalent anyway; 
· its transmission method which is of major importance in mother to child transfer; 
· the relatively weak social status of women in African society in general; and 
· Overall poverty, which both limits health care and increases the incidence of uncontrolled commercial sex workers. 



Identify the main expenses that needs to be considered when life assurance premiums is being determined

· Expenses
· paying doctors to do medicals; and 
· Commission paid to the intermediary. 
· Investment Return






Explain the purpose of a valuation and briefly describe the two methods of doing so

· The main reasons for carrying out a valuation is to test the solvency of a life office - especially if there is any doubt about its financial standing.
· The second reason for carrying out a valuation is to determine the amount of surplus funds available for: 
· distribution to policyholders by way of bonuses
· to shareholders by way of dividends
· The company's reserve funds to be held against future contingencies. 
· Thirdly a valuation must be done if two or more insurers are planning to amalgamate or if any part of an insurer's business is to be transferred to another insurer.
· Valuation must be done to test the effect of new premiums and products.


List and briefly describe the possible sources of a surplus when a valuation is undertaken

· Expenses surplus 
· Will occur when the actual expenses incurred in running the business are less than the expenses assumed at the previous valuation; 
· Surplus interest earnings
· Is the amount by which the interest actually earned on the assets of the insurer is greater than the interest earnings assumed? 
· This is in fact the major cause of surplus as mortality and expenses are normally finely tuned to actual experience; 
· a mortality surplus arises if the claims experience is less than that assumed 
· a surrender surplus happens when policies are surrendered the reserve no longer has to be held. A surplus will arise if the reserves released exceed any amounts paid out. 


Describe how ‘with profit’ policy owners can share in the surplus established after a valuation

· It is a statutory requirement that an actuary completes a valuation of the assets and liabilities of the insurer at least once every three years. 
· On completion of the valuation the actuary will have an idea of the surplus that has been accumulated, and that can be paid into the insurer's reserve account.
· Based on the results of the valuation the actuary, who has established a surplus, can declare a profit that is to be paid to policy owners of with profit policies.
· These profits became commonly known as bonuses that were due to the policy owners.
· Bonuses were classed as being either vesting or non-vesting. 
· The vesting bonus became an addition to the policy value which could not be removed. 
· Non-vesting implies that the bonus can be withdrawn if the actuary deems this necessary as a result of a subsequent poor valuation result.







Briefly describe how the owners of ‘linked’ policies share in the investment returns of insurer

· As the investment expertise of insurers improved they diversified into different portfolios that specialised in specific areas. 
· Insurers started indicating their performance in different portfolios that specialised in, for example: 
· equities - shares on the Johannesburg Securities Exchange; 
· property; 
· capital investments - for example, government, municipal and utility bonds; and 
· Cash investments. 
· As the performance of these portfolios started indicating better returns than policy owners were getting from their with profit policies the policy owners started making demands for a share in these profits.
· Insurers started making options available on their proposal forms for the policy owners to select a particular portfolio that their policies could be linked to.
· Under certain of the portfolios the policy owner who was more conservative in his investment outlook was also still able to receive a minimum guaranteed return. 
· The balance of the growth remained within the portfolio and was paid out much the same as terminal bonuses under the previous with profit policies.
· More daring investors could choose to forfeit their guarantees, and rely on the higher potential returns at maturity of, for example, an equity portfolio



Discuss the ‘universal concept’ – Chapter 4


· Policy designed to be flexible enough to meet all the needs of the policy holder throughout its life
· All premiums are paid into an investment account
· Level of life cover is indicated by the applicant
· Minimum premium is then determined by underwriter on grounds of:
· Cost of supplementary benefits
· Commission to be paid
· Up-front expenses incurred
· Cost of issuing policy document
· General expenses
· All expenses are deducted from investment account
· Premium can be adjusted if risk assessment show inadequate rates
· The more money paid into account the greater the level of cover and supplementary benefits
· Should client choose low level of life insurance a greater portion of premium will remain in account
· Higher the life cover needs, the greater the cost incurred and therefore less premium remains in account




























STUDY UNIT 21 – Retirement annuities and supplementary benefits


Explain the difference between a voluntary and compulsory annuity

Any annuity arranged or paid by a pension fund is a compulsory annuity
· There can be a guaranteed period linked to the annuity. This means that it will pay for a period of, for example 10 years, whether that annuitant survives the period or not. 
· Should he survive beyond this period, the annuity will have to continue for as long as he lives. 
· As the insurer knows that it is committed to the payment of an annuity for as long as the person lives, it stands to reason that: 
· the younger the person is at inception; 
· the healthier the person is at inception; and 
· whether the person is male or female; 
· Will have a marked impact on the annuity that the insurer will be prepared to guarantee.

Voluntary purchased annuity however, means that the person who is purchasing the annuity is under no obligation to do so. 
· He has simply decided to do so for the permanent and secure income that can be derived therefrom. 
· There are some implications that differ with a voluntary purchase annuity: 
· there is no need for the annuity to be permanent; and 
· Subject to certain conditions, the capital repayment portion of the annuity will be tax exempt. 

Describe the supplementary benefits that can be linked to a life insurance policy

· Supplementary benefits usually require extra caution in underwriting and are very often subject to extra premium loadings for specific occupations or hazardous pursuits.
· In some cases, for example, capital disability and dread disease, the supplementary benefit accelerates the death benefit and the policy terminates in the event of a claim. In other cases the supplementary benefit is a true addition to the basic cover.
· DISABILITY BENEFITS ATTACHED TO LIFE INSURANCE CONTRACT
· The majority of contracts provide a benefit should the insured be unable to follow any gainful occupation through disability. The general exclusions are: 
· indulgence in alcohol or drugs
· self-inflicted injury
· criminal acts
· war risk
· Aviation other than as a fare-paying passenger on normal routes. 
· Permanent Health Insurance is sometimes sold as an additional benefit although it is more usually a free-standing policy.
· WAIVER OF PREMIUMS
· Under this option, in the event of the life insured becoming totally and permanently disabled, premium payments cease and the policy is maintained in force free of charge.
· Premium waiver on death
· ACCIDENT BENEFITS
· A fairly common benefit that can be attached to a life insurance policy is one providing for the payment of an additional amount, very often equal to the basic sum insured, in the event of death by accident.
· GUARANTEED INSURABILITY BENEFIT
· This benefit provides the option to increase the cover at regular intervals without evidence of insurability, i.e. continued good health.
· FUNERAL INSURANCE
· Within the Long Term Insurance Act of 1998 funeral insurance is categorised as Assistance Business. An increasingly popular benefit, especially in lower income markets, is the funeral benefit.
Go through the section on permanent health insurance and hospital cash plans and major medical cover

There are two serious disadvantages to the policyholder under any scheme of personal accident and sickness insurance by annual contract, in a short term insurance offering.
· Payment of a benefit is limited to a specified number of weeks, or restricted in some other manner.
· The insured becomes afflicted with some serious injury or illness; renewal may be refused, offered only at an increased premium or subject to some restriction in cover.






STUDY UNIT 23 – Introduction to underwriting


Describe the objectives of the underwriter

EQUITABLE TO THE CLIENT
· As each application for insurance is received, the insurance company must determine the degree of risk and must charge a fair premium for this risk.
DELIVERABLE BY THE INTERMEDIARY
· For a policy to be acceptable to the buyer, it must satisfy three basic requirements
· the policy must provide benefits that meet the buyer’s needs
· the cost of the cover provided by the policy must be within the buyer’s financial means
· The premium to be charged for the cover must be competitive in the marketplace. 
PROFITABLE TO THE INSURER
· An underwriter must make decisions that are profitable to the insurer. 
· All insurance companies require sound underwriting to ensure favourable financial results.
SERVICE AND SPEED
· Prompt application approval and policy delivery are vitally important.


List the different classes according to which the underwriter will need to classify prospective life insurance clients


The different risk classes used by life insurance companies can generally be grouped as the standard, substandard, preferred and non-smoker classes. 

· The standard class includes individuals whose anticipated mortality is regarded as average. 
· There are usually several substandard classes that include individuals with impairments, any aspect of their health, occupation, avocation or lifestyle that can be expected to shorten their lifespan. 
· The non-smoker class uses only one factor - whether an individual smokes, usually cigarettes, to determine whether that individual is a better-than-average mortality risk. 
· The preferred class, on the other hand, is based on many factors in addition to whether the applicant smokes. 
· There may be some overlap between the preferred class and the non-smoker class. Both classes include individuals whose anticipated mortality is lower than standard mortality. 





Discuss the underwriting guidelines within which the average life underwriter is expected to work


THE NUMERICAL RATING SYSTEM
· This method of underwriting assigns numerical values to individual applicants, based on the degree of risk they present to the insurer.
· These numerical values are then used to determine the appropriate risk class in which to place the applicant, and the appropriate premium to charge.
· The numerical system works on a debit and credit system to a number of impairments that have been determined to have a greater, or a lesser, impact on the mortality risk presented by the applicant.
THE UNDERWRITING MANUAL
· The underwriting manual provides background information on impairments, and serves as a guide to suggested underwriting action when various impairments are present.
· In order to prepare an underwriting manual, extensive experience with various types of risks and impairments is needed, and therefore the reinsurers were the first to produce these manuals.
UNDERWRITING POLICY AND COMPANY OBJECTIVES
· One company may be writing business among certain groups who carry comparatively large policies,
· Another company may undertake to provide insurance for all levels of society, so that as many members as possible may enjoy the benefits
ASISA HIV TESTING PROTOCOL
· The original AIDS agreement was introduced as a direct result of the threat to the financial soundness of member offices of the LOA posed by HIV/AIDS. 
· Member offices were required, in the absence of a negative HIV antibody test result, to impose an AIDS exclusion clause on all life policies of R200 000 or more.
